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Topic:- AG1

1) Nucleus is absent in:/ $&® JJURRI BT 3:
1. Xylem parenchyma/ ST WRebTgA |

2. Phloem parenchyma/ TAIeH WRhTgAT H

3. Sieve tube cells/ Ba! AfcidT H

4. Companion cells/ TgTR BT

Correct Answer :-

. Sieve tube cells/ T AfcrwT A

2) Consider the following groups of compounds:/ /% aifirel W faar $ifvma:
(i) Proteins/ uéE

(ii) Interferons/ s%ﬁ"l

(iii) Carbohydrates/ FIalglsge

Out of the above three, the classes of compounds that contain peptide

linkages are:/ SWRIa 9 # A 59 T & Uprss d9 yram 941 8:
1. i and iii/ i 3R iii

3.0, i and iii/ i, ii, 3R iii

4.iand i/ i MR ii

Correct Answer :-

. iandii/ i dRii

3) The saliva helps in the digestion of:/ wmﬁvﬂ%wﬁmm%
1. Proteins/ urdH

2. Starch/ &



3. Fibers/ TIgsk

4. Fats/ ddI1

Correct Answer :-

. Starch/ ™

4) Jute is mainly composed of:/ ¢ 1 d-g fHe a1 giar 3:
1. Xylem/ STga¥ 4

2. Secondary phloem fibre/ fgdia® wiE a &

3. Phloem/ tl?ﬁ@
4. Cortex/ ®Iead

Correct Answer :-

. Secondary phloem fibre/ fgdiad Faey a9

5) An example of a natural fungicide is:/ ﬁ?ﬁﬁmwmm%}
1. Furalaxyl/ ®RIfRId

2. Wyerone acid/ &RIF 37

3. Folpet/ Blede

4. Carboxin/ CACIERSE

Correct Answer :-
« Wyerone acid/ SR 3

6) Who coined the term ‘systematics’?/ e ~RcAfes” s &1 ufaures fear
Ur:

1. Huxley/ RERK

2. Linnaeus/ faf-ag
3. Darwin / Sifaq

4. Lamarck/ NG

Correct Answer :-

. Linnaeus/ fafHag



Protein responsible for blood clotting is:/ WWW@WW%ﬁWW
YFHT JTHH | GTadl HdT &

1. Albumin A/ TAgaE A
2. Globulin/ TIgHA

3. Fibroin/ WTSsiigd

4. Fibrinogen/ CAFEINE

Correct Answer :-

. Fibrinogen/ TfsHToH

8) Liquid Endosperm is present in the seed of:/ mmmwﬁwm
G

1. Pea/ XX

2. Maize/ HdDI

3. Coconut/ ATRId

4. Mango/ 3H

Correct Answer :-

« Coconut/ ATRId

9) The hormone that contains iodine is:/ fFg & &9 A g & MO gidT 8
1. Thyroxine/ 1@@?

2. Testosterone/ CCRCIA

3. Insulin/ éﬁl%ﬂ

4. Adrenaline/ Q@?ﬁﬂ

Correct Answer :-

« Thyroxine/ 1@@?

10) Among the biotic components of the ecosystem, the producer system

is?/Sanvsd # Y Sifd® ged! 7 9 f5a Iaee & wR W @1 9161 82
1. Bacteria / Gﬁmg

2. fungi/ ®HgG

3. Green Plants/ X UIY

4. Animals/ Si<q



Correct Answer :-

. Green Plants/ gX Q19

11) Plants get their nitrogen from:/9ie &I AT IS UIW giel 8:
1. Rain/ 99 &

2. The soil/ HET@

3. The air/ ?:qu@

4. Ground water/ ﬂ-ﬁﬂTﬂGﬂﬁ

Correct Answer :-

« The soil/ a1 ¥

12) Fibrous root system is mostly found in? /3R SIg 43 YHTIG: fHaA urar Sirar

&

1. Monocot plants/ T&HeeldAd gy
2. Dicot plants/ fgfasafad urqu

3. Pteridophytes/ ASIHIIeT

4. Bryophytes/ EIRI IR

Correct Answer :-

« Monocot plants/ T&sIeIaAd gy

13) Which of these is not a mosquito borne disease? / A ¥ 9 @ FuarH
TSI § el gl

1. Dengue fever/ @FIW_OR
2. Malaria / HART

3. Filariasis/ g1UIUTd

4. Goitre/ 9T

Correct Answer :-

« Goitre/ B3|

14) The gas predominantly responsible for global warning is: /&9 3} 9 afy®
a1 & forg g1 U | IdRerd! 82



1. Carbon dioxide/ ®Td- SRS
2. Carbon monoxide/ BTa A3 ITSS
3. Nitrous oxide/ ATgcY S CRIES]

4. Nitrogen peroxide/ -TSgIoM IRATRITES

Correct Answer :-

. Carbon dioxide/ PTe SEAHFES

15) The vestiges of hind limbs are present in:/ m\_ﬂﬁﬁq&l‘qﬁ{aﬂ 3a=IY UTaT
STl 8:

1. Cobra/ ®Iaxl

2. Sea snake/ E‘ﬂ?ﬁﬁq
3. Krait/ 91s1 USTS

4. Python/ 3"k

Correct Answer :-

« Python/ 3SITR

16) Who receives electron at the end of electron transport chain?/ gadei-
RITATAROT ST | DI 3 | gaAaei= Tl HT 52

1. HyO

2.0p

3.CO»p

4. Cytochrome-az/ I8l | a3

Correct Answer :-

17) The branch of medical science which is concerned with the study of
disease as it affects a community of people is called: /fa9T9 ¥ 39 RAT T ATH
arsd s frft v Tqera & A & gHTfad @ arelt AU &1 srea=t fopar <t 8:

1. Epidemiology/ wfrsHcI

2. Oncology/ Gilg'lt"i S
3. Paleontogy/ Tdiciaoit



4, Pathology/ PHINISI]

Correct Answer :-

« Epidemiology/ Eﬁ@:ﬁ@lﬁﬁ

18) 1 gm of which of the following will produce maximum ATP's?/fFadd
fora® 1 amw # 3iftpayd ATP's &1 SdTe gidT 82

1. Protein/ UieH
2. Carbohydrate/ FTEIgIESe

3. Fat/ adT1

4. Cellulose/ @Tj('ﬁﬂ

Correct Answer :-

19) Which among the following which causes Hydrophobia ultimately?/
Frafafea o @ i 91 Sidd: JTdaiae ST SR T 32

1. A virus/ T fauT

2. A bacteria/ T SiIdTg]
3. A protozoa/ WEﬁ?ﬁGﬁaﬂ

4. A worm/ T BIgl

Correct Answer :-

« A virus/ T fawr

20) White Revolution’ is related with: /%4 swifd fad Hafa &:
1. Flood control/ av;:ﬁu’am

2. Fish production / A&l 3dTgA

3. Wheat production / ﬁEB‘cCﬂEq

4. Milk production/ g/ 3T

Correct Answer :-

« Milk production/ gi¥ SdTGH

21) Lac is produced by?/ WA &1 3dTe fhpad gRT forar Srdr &:



1. Males insect only/®%dd AR HIc R
2. Females insect only/dad HIGl HIc GRT
3. For more by females than males/ HIGI ®Ic gRI SGI , TR PIC gRI HH

4. More by males than females/ TR ®I¢ GRI WIGl, HIGI HIc gRI HH

Correct Answer :-

« For more by females than males/ HIGI ®Ic GRT WGl , R BIc gRI HH

22) The pigment haemocyanin is found in?/ A Wged frad urar s 82
1. Chordate/ PR

2. Mollusca/ HIdR®T

3. Annelid/ TAfersT

4. Echinodermata/ EEFIE:h@ﬁET

Correct Answer :-

e Mollusca/ s ]

23) Which of the following has closed circulatory system?/ F@E§ #I9 d §¢
UfETROT & 9T ST &

1. Arthropods/ smyfarer

2. Annelids/ TfAfereT

3. Platyhelminthes/ lﬂﬁ%ﬁqﬁm

4. Molluscs/ HIabT

Correct Answer :-

« Annelids/ THfersT

24) The role of honeybee is important in the?/ qgna@mwﬁrﬁg'@mw%}
1. Production of wax/ A 994 & fod

2. Help in pollination/ TRITOT H eIl &3l §

3. Production of honey/ W%ﬁﬂfﬂﬁ

4. All of the above/ IWRIad IH!

Correct Answer :-

« All of the above/ SWRIad gt



25) Most reared silkworm in India’s:/ HRd ® I3 3/ UraT 9 9rdl1 YXH $ic
ﬁ'—rm %

1. Bombyx mori/ Siedq ART
2. Antheraea paphia/ T giftsar
3. Antheraea roylei/ TRar Jgal

4. Antheraea assama/ TIRTT 3RAT

Correct Answer :-

« Bombyx mori/ Sida ARG

26) Neutron are present in all atoms except? /5 & 9 fHaw e IufRa &
BT 32

1. He
2.C
3.H

4. N

Correct Answer :-

« H

27) The inert gas used in beacon light is:/iﬁ:[ t arfera A Fpia v & IuaRT 3 et B
1. Kr

2. Ar

3. He

4. Ne

Correct Answer :-

28) In the molecule of water, atoms are joined with?/ﬁﬁ%él'tﬂéﬁ H, Gﬂ{[ﬁ%@ﬁ
gl

1. Ionic bond/ A& Y

2. Covalent bond/ Taist §¢

3. Coordinate bond/ IUTEITAIS §¢



4. None of these/ﬁﬁ@fﬂﬁé?&ﬁ

Correct Answer :-

« Covalent bond/ gaisft d¢

29) The most electronegative element among the following is:/frrfafad # Q@ #1991 99 gaifie

1. Sodium/difeay
2. Chlorine/adRIH
3. Oxygen/&mm
4. Fluorine/9aRiA

Correct Answer :-

« Fluorine/RIA

30) A solution turns red litmus blue. It’s pH is likely to be: /U fdeg= @ra
fereww &1 a1 A ufvafda & a1 8, STST pH AT T R M:

1.2

2.4

3.7

4.10

Correct Answer :-

- 10

31) A double salt is that which gives? / {§® @qur § a1 firear 82

1. Two cations other than H* ions/H & 3fQaT &l Y4=Ta- fied &

2. More than one anion/ @& ¥ 3{fY% BT

3. One cation other than H*/ H+ & 3{ATd] Tdh Y1
4. None of these/378 d &S gl
Correct Answer :-

« Two cations other than H* ions/H™ & 3T & YA fiad &



Which %f the following is an associated colloid: / 19 & @ 9 I8 g3 Hralgs &1
J4IeXvl 3

1. Protein + Water/ UI¢iH + &
2. Soap + Water/ |Ig- + o]

3. Rubber + Benzene/ I&R + S=oiid

4. Milk/ g

Correct Answer :-

« Soap + Water/ dIg- + oic]

33) Fog is a colloidal solution of? /®Ig3 U Hlalssd faay- & feasr?
1. Gaseous particles dispersed in quuid/ﬂﬁﬁ@@ﬁ?ﬁﬂﬂﬁ

2. Liquid dispersed in gas/ﬁﬂﬁ%‘dﬁﬁ?ﬂﬂﬁ

3. Gaseous particles dispersed in gas/ 1 & f&aRd gasl T & &0 &I

4. Solid dispersed in quuid/Wﬁ%ﬂﬁﬁ?ﬁﬂW

Correct Answer :-

« Liquid dispersed in gas/ﬁﬂﬁ%ﬂﬁﬁﬂ?ﬁﬁ

34) Which one of the following is a mineral of iron? / fFE & @ #19 @8 &1 @ 82
1. Malachite/ AdisbTge

2. Cassiterite/ HUI¢RIZE

3. Pyrolusite/aﬁql?c’

4. Magnetite/ﬁTIelfTs’fcr

Correct Answer :-

» Magnetite/ fl’lflalga

35) Complete manures provides soil: /Ul WTE YT B HIHTT WS YT Hd! 8
1.S,Kand N/ S, KSR N

2.N,Kand P/ N, K 3R P
3.S and N2/SGﬁTN2

4.S,N2and P/ S, N2 3R P



Correct Answer :-

« N,Kand P/ N, K 3R P

36) Which of the following is not an isomer of but-1-yne?/ﬁ'§lﬁ1ﬁ@lﬁﬁﬁﬁ={
e-1-3(T3 PT JHTGYT 8] 872

1. But-2-yne/ &gc-2-3{Tg
2. Buta-1, 3-diene/ @5-1,3-@%3

-~

3. Methyl cyclopropene/ AU TZFATIT

4. But-2-ene/ &JcZ-2-g1
Correct Answer :-

« But-2-ene/ &gc-2-g1

37) The temperature of the sun is measured with:/ﬁq'\ﬁﬁﬂﬁlmﬂ'ﬁﬁﬂ
ATYHT JTd A | BT ot 3

1. Platinum thermometer/@ifeaH yAfHte
2. Pyrometer/UIﬁﬁTﬁET
3. Gas thermometer/T9 YATHCR

4. Vapour pressure thermometer/STd a8 T YATHICR

Correct Answer :-

. Pyrometer/Uiﬁ@TﬂET

38) Marsh gas contains mainly? /A=l ¥ (G@gd @1 A9) H YBId: T BT 82
1. N,

2.CO,

3. CH,

4. CoH,

Correct Answer :-

« CHy,

39) Gobar gas is not used in? /MaR 9 ST ITANT fHaA T a1
1. To lighten houses/ TRl H UHTR B3 1



2. As a fuel for cooking food/mqaﬂﬁa'l?ﬁﬁﬂ%wﬁ
3. Both of the above/ SWRIdd GHI
4. The synthesis of urea/ giar & fAafor 4

Correct Answer :-

« The synthesis of urea/ gf¥ar & fHor o

40) Ethanol is prepared from?/ v o1 fAmtor feaa fear siran @
1. Hydrolysis of ethelene/ W%E@mﬁ

2. Sugar through fermentation/ IHT & fruad

3. Both of the above/JURIad Gl

4. Wood / T

Correct Answer :-

« Both of the above/maﬁiﬁ_rﬁ

41) Perfumes are made from: /53 9 & @ f5ad 9 914 &
1. Ester/ TR

2. Carboxylic acids/ AR ERNIERCLE]

3. Methanol/ AYATS

4. All of these/ IuRlad I

Correct Answer :-

« All of these/ IWRIad gHt

42) Wood alcohol is the other name of? / ®Tg Tehigd B 3R 5T ATH A ST ST

&

1. Methanol/ BYd

2. Ethanol/ TaHId

3. Propanol/lffa:ﬁﬁ

4. None of these/ STH U P13 g1

Correct Answer :-

« Methanol/ AL



43) Power alcohol is? / UTaR Uchigd T gIdT 82

1. Benzene + petrol + rectified spirit/ s=ii=+ Ucierh TiRRMeT TRufke
2. Ethyl alcohol/ TUTSd 3fehig

3. Rectified spirit/tlﬁ'@'fﬂ?rﬁlﬁ?

4. Methyl alcohol/ DY 3fehigd

Correct Answer :-

. Benzene + petrol + rectified spirit/ s=il-+ Ugia+ TN ufufe

%4) From which group, the fats beIongs?/Wﬁ?ﬁﬁﬁ?ﬁWﬁmﬁﬂT
?

1. Carboxylic acids/ HTalfRIclD 3
2. Carbonyl/ﬁﬁ’ﬂ%ﬂ

3. Esters/ TR
4. None of the above / Eqﬁaaffﬁaﬁé:ré’f

Correct Answer :-

e Esters/ TR

45) Saponification of an oil or fat gives soap and:/ ft a a1 94T BT ATFATHIOT
P W AT 3R I giaT &

1. Methanol/ HaHId
2. Ethanol/ TS

3. Pentanol/ UeHId

4. Glycerol/ forRia

Correct Answer :-

« Glycerol/ ENRRI]

46) Toilet soap is a mixture of: /ﬁ%ﬁfwmﬂﬁ{mﬁﬂﬁz
1. Calcium salt of fatty acids/ T 37 BT o AH qaul

2. Potassium salt of fatty acids/ 91T 37 &1 Uic (aaH aqul

3. Fatty acids and alcohol/ IETT 3 TYUT 3ehigd

4. None of these/sTH ¥ &g Tal



Correct Answer :-

« Potassium salt of fatty acids/ IHTT 37 HT Ui RIgq qaul

47) The disaccharide present in milk is? / g ¥ 9T STSAPRISS U il 82
1. Sucrose/w

2. Maltose/ ATeei

3. Lactose/ dacid

4. Glucose / &N

Correct Answer :-

. Lactose/ddeg

48) Identify the vitamin whose deficiency in our blood decreases

reproductive power: / 39 fyerfia &1 vgarg foaet o # & § o= wfea effor
(@H) B ATl §:

1. Vitamin E/ faei®= E
2. Vitamin D/ faeifd D
3. Vitamin A/ﬁﬂﬁF{A
4. Vitamin C/ fderf®= ¢

Correct Answer :-
« Vitamin E/ f[deifi=9 E
49) Biuret test is not given by? / S # & ®I19 arsgRe udter 7Ef Tar?

1. Carbohydrates/ ®TagIsac
2. Polypeptides/ GifcipIgs

3. Urea/ giam
4. Proteins/ S

Correct Answer :-

. Carbohydrates/ FTagEge

50) Raffinose is: / Yp-IY & U®:
1. Disaccharide/ SIEUBIISS



2. Monosaccharide/ﬁ’ﬁ@%’s{%’

3. Trisaccharide/ TRAHBRIZS
4. None of the above / Wﬁﬁaﬁéﬁ

Correct Answer :-

« Trisaccharide/ EAléﬁaWIsS

51) Which term is 498 of A.P. 3, 8, 13, 18.......7/ 9Uit 3, 8, 13, 18....... BT P AT
U 498 §?

1. 100t" term/ 100 @i Ug

2. 80th term/80 af Ug

3. 40N term/ 40 ai Ug

4. None of these/3TH T ®I3 gl
Correct Answer :-

. 100th term/ 100 T ug

52) The first and last terms of an A.P. are 1 and 50 respectively. If sum of its
n terms is 204, find the common difference of this series. / Th JHI<R Juft &1
UYH Ug 1, 3ifaH U 50 3R n TSI &1 TThE 204 g, a1 it &1 Jrdaiar J1d Hifgl

1.7
2.8

3.6
4. None of these/378 d &S gl

Correct Answer :-

53) 3x, x +2 and 8 are three consecutive terms of an A.P. Find its fourth
term./ 3x, x+2, 9UT 8 FHIGR At & i HwTTa ug &) SHPT U1 U AT A2

1. 18
2.12
3.14

4. None of these/ﬁﬁ@ﬁﬁ

Correct Answer :-



54) 1f 4k + 8,2k2 + 3k+ 6 and 3k? + 4k + 4 are in A.P., then the value of k

are:/ gf¢ HIAR vt & 9 GR U< 4k + 8,2k2 + 3k + 6 3R 3k2 + 4k + 4 g,
k T | 2-

1.0,2
2.1,2
3.3,4

4. None of these/ﬁﬁﬁaﬁéqﬁ

Correct Answer :-

« 0,2
55 13 5 7 13 5 7
Find the sum of infinite series 3+%+274+214,,...0viiues /Qﬂﬂ TR Sl Ch:2 .
& 3 U 9P T JTd SIog|
1.1
2.0
3.18

4. None of these/'s?lﬁ@[ﬂﬂ'%?e?f

Correct Answer :-

56) The first term of G.P. is 'a’ and common ratio is r, then sum of infinite
terms of that series will be:/ f&e} oiwR Joft &1 yyw g a’ & SR AU r B,
39 Joft F 3 uSl &1 9hT gh:

i

1.r—1
a(r®—1)
2. r—1

i

3.1-r

a(l—rm")
4, 1l-—r

Correct Answer :-



57) The last term and common ratio of a G.P. are respectively 64 and 2. If
sum of its n terms is 127, then find the value of n./ f&=dt onwR Soft &1 &ifew ug

64, FTISIUTd 2 TUT n Ue! BT TN 127 §|USH & JEa1 1d S|
1.5
2.7

3.8
4. None of these/‘a’ﬂﬁﬁaﬂ’é’?ﬁ

Correct Answer :-

e 7

58) If a, b, c are in A.P. and X, y, z are in G.P., then:/ Uf¢ a, b, c GHT<R A A &
d4i x, y, z{[Uﬁ?RQ'Uﬁﬁ%,?ﬁ:

1. Xb—c yc—a Za—b =1

2 xb-c¢ yc—a Za-b — 0
3, xP-¢ yc-a zab — >

4. None of these/ﬁﬁ@[?ﬁl‘%ﬂ?ﬁ'

Correct Answer :-
. xb-¢ yca za-b =4

cosdteind ?

59) cosdoosecd—sindeecd

1 tan A —sec A

5, cosec A—sech

3, Cosec A+tsech

4 tan A+ sec A

Correct Answer :-

, cosec A—sech



Find out the value of sin 60°. tan 30°. cos 45%./ sin 60°. tan 30°. cos 45°. &I

HTE JTd HIfore

4. None of these/é’ﬂﬁﬁaﬁé:@'

Correct Answer :-

61) 1.3 )
) : [V'3 cos23° —sin23°] —>
1
ECDSS3O
2.C0553°

3 cos1100

4. None of these/‘a’ﬂﬁ@aﬂéqﬁﬁ

Correct Answer :-

1
- cos53,

o =

62) 1+&inf—cos=l _
1+ sinf+coz8

. B
1.SH12

)

4. None of these/éﬁﬁ@faﬁé:@'

Correct Answer :-



63) Calculate arithmetic mean of the following table./ % 9Rvit & forg GuT=R
A1 P TUFET BT

Age (in years)/
amg (9 ) 11 |12 (13 |14 |15 16 |17

Frequency/
2 |4 6 6 8 7 4
3rgfr

1. 14.38
2.15.25

3.12.50

4. None of these/‘i’ﬂﬁﬁaﬁéﬁ

Correct Answer :-

- 14.38

64) The marks obtained by the students of a class in mathematics are given

below, find the median./ T & TP F&T & B gRT U 3% i fau 18 &, ArfeusT
ITd Pifeg|

Marks Obtained/
ISIED

No. of Students/ 31
B "=

11 |13 |16 (22 |25 |28

1. 22
2.25

3.28

4. None of these/s:lﬁﬁaﬁ'stﬂﬁ

Correct Answer :-

65) Calculate the mode from the following table./ g greoft @ ggdd JATd

Fiferg|

Class x/ SITPIN X 20 25 30 35 40 45 50

frequency f / 3Mqf f 9 10 [11 |20 |17 |15 |8




1. 35
2.40
3.25

4. 50

Correct Answer :-

66) Calculate the mean deviation from median of the following distribution:/

g wve | arfere d w1 e 31a S|

Marks Obtained/ Wradi®® | 0-10 10-20 20-30 |30-40 |40-50

No. of Students/ BT &t
Rirc| |

2 7 10 5 3

1.8.32
2.9.56
3.7.28

4.15.56

Correct Answer :-
« 8.32

67) Calculate the standard deviation from the following table: / IBCEEIECIEGI]
e &1 S faaad g1d siferg)

Term/Uq 8 |10 (12 |14 |16

Frequency/ 9RdRdr (4 |7 |8 |7 |4

1.3.42
2.2.47
3.5.68
4. None of these/3TH ¥ &5 ol

Correct Answer :-

. 2.47



Ifa=log2 b=1log3,c=log7and6X=7X+4,thenx=?/df¢a=1og2 b=
log3,c=log73R6X=7X+48,d@Ax=?

4b
1.cta—2b

4d¢
la+b—c

4b

3. c—a—h
4b

4 at+tb—c

Correct Answer :-

4
a+b—c

I_:

I+‘f - J:’+‘f E
If4X + 22x1 =3 =43 * thenx =2/ afd4X 4 22x-1 =3 +I =g,

69)

70) ¢ 4logs? + glegzt _ 10 !ﬂngEI then x = 2/ _qﬁ,;}!ﬂggﬁ + glegzt _ 10 !ﬂ‘gxﬂﬂl?ﬁ_ X =2
1.8

2.7

3.12

4. 10

Correct Answer :-



71) logy _ log= logy _ log=
Iflogx = 2 5, then x? y3z'2 =?/€Iﬁlogx= ! 5 ,T-ﬁx“ y:"’z'2 =?

1.2
2.10
3.1

4.0

Correct Answer :-

e 1
72) tan o = 1__EDEE, tan o = 1—.|:|:|s|3

If snf "then/ 4f¢ sinfl ,?ﬁ'
1 tan 3o = tan2p

2 tan 2o = tanp

3 tan 2p = tano

4. None of these/ﬁﬁﬁﬁgqﬁ

Correct Answer :-

, tanZa = tanf

73) 2sin2B + 4 cos (A + B) sinAsinB + cos 2 (A + B) =?
1.0
2.cos 3A

3.cos 2A

4. None of these/éﬁﬁ@[ﬂﬁ‘sﬁﬁ

Correct Answer :-

e COS 2A

74) tan @ tan (60° - ) tan (60° + @) =?
1. cot 36

2.2 cot 36

3.tan 36

4. 3 tan 36



Correct Answer :-

« tan 36

75) 2(ein28+2 cos f—1)

cosf —sinf — cos30+ sin 30

1.cos 6

2.sec 6

3. cosec O

4.sin 6

Correct Answer :-
« cosec 6

76) To push a liquid up in straw, air pressure inside it wiII:/qﬂﬁmﬁW?ﬁ
W G IR D 3R BT qHUS Y gTd:

1. Increased/a‘c.fm%
2. Decreased/‘EI'c'GFIFIT%r
3. Remain constant/Ud JHTT Igdl %

4. None of these/sﬁﬁ@faﬁéﬁ

Correct Answer :-
« Decreased/dYc Sldl %’

77) A body is sliding down on a rough inclined plane which makes an angle
30° with the horizontal. If the coefficient of friction is 0.26 the acceleration in

m/sec? is: /U@ a3 frift 3@ Tag W fraad gu afas ¥ 30° &1 wivr fAfifa #=dt 8, afe
YU OIS 0.26 B <Y a¥g BT @wor #1/9.2 § ghm:

1. 1.95
2.2.78
3.3.47

4.4.6

Correct Answer :-

« 278



78) At which deepness the effective value of acceleration due to gravity will
g g

be E(if R is the radius of earth):/ WWWWWWWWEW
(afg R gt 9t B 3):

3R
1, 4

ra|

| 5

5R
4. 16

Correct Answer :-

79) At earth surface (g=10 m/sz) the gravitational potential will be:/l'{%ﬂaﬁ
(g = 10 m/s?) W @ faug gim:

1. Zero/[H
2.6.4 x 107 Joule/kg / 6.4 x 107 Sai/fban
3.-6.4 x 107 Joule/kg / -6.4 x 107 Sa/fUl

4. Infinite/ 3
Correct Answer :-

. -6.4 x 107 Joule/kg / -6.4 x 107 Sa/fHan

80) If the mass and radius of earth reduced by 1% then the value of
gravitational acceleration ‘g’ will be:/df¢ Tt & sa™ a1 541 1% &9 & fear
T A FT @Rl ‘g’ P AT:

1. Reduced by 1%/1% &H gl SITAT
2. Increased by 1%/1% a‘q?GIIall

3. Increased by 2%/2% a?,rwau
4. Remain unchanged;/3maftafda g

Correct Answer :-

« Increased by 1%/1% El'c,falall



81) Mercury is used in thermometer because:/ﬂTﬂ'ﬂTﬁ’rﬁq‘mmmmﬁT%
TP :

1. Mercury is heavy/tl'l'\"[?-l'lﬂ%r
2. Mercury is transparent/URI URgR f %

3. Mercury is easily available/IRT 3T & f&rd ST 8

4. Cubic expansion coefficient of mercury is uniform and high/qﬁw ST UHR T[UTh
THIHT U7 31 §

Correct Answer :-

. Cubic expansion coefficient of mercury is uniform and high/UR &1 3Fd4 YR {[Ulid
THGAM quT 3 §

82) A black body is heated from 27°C to 327°C. What will be the ratio of

radiation emitted: /afe T® Fwr fUvs Y 27°C A 327°C 9% T fovaT wiraT € o I9Q
Iaford fHRoN &1 SruTd g

1.1:64
2.1:16
3.1:4
4.1:256

Correct Answer :-

e 1:16

83) If the rubber bob of a simple pendulum is replaced with iron bob then its
time period will: /3¢ TR Grai® # ISR & Al I dig F AIdP o 9¢d fedT 14 ol
DT ATAAPHIe:

1. Increased/dg SITEATI
2. Decreased/dYc SR

3. Remain the same/Udh JHH Q%‘II
4. First increased then decreased/dgd d¢i fthe G

Correct Answer :-

« Remain the same/Udh JHT Q%JII

84) Simple harmonic motion is based on: /IS 3ad Tifa merfyd g

1. Law of conservation of momentum/ﬁﬁww%ﬁﬂﬂw



2. Law of conservation of mechanical energy/difAd® 3dl TR & gH IR

3. Law of conservation of mass/SogH TR&UI & g0 IR

4. None of these/é’lﬁﬁaﬁé:ﬁﬂ'

Correct Answer :-

« Law of conservation of mechanical energy/diHe® 3ol WREUN & 90 TR

85) The S.I. unit of specific heat is: /fafXfY AT FI S.I. AP -

1. Calorie/°C /@Rl OC
2. Joule/kg/S[el/fHUT

3. Calorie/kilogram °C/ Fart/fear oc
4. Joule/kilogram k/<S[ei/fe41 k

Correct Answer :-

« Joule/kilogram k/Sa/faar k

86) The ascending heat conductivity is shown by the following:/a?.f‘cﬁgﬁm
Tradal & fae fAafafaa # @ e oo e

1. Cu, Ag, Al
2. Al, Cu, Ag
3. Al, Ag, Cu

4. None of these/éﬂﬁ@faﬁgﬂfﬁ

Correct Answer :-

87) The works of collimator in spectrometer is:/agHtex # IHTNRT &1 B4 &

1. To find monochromatic Iight/QW'Uff UhTRI UTCT h I

2. To find coherent light/JHdg UHTRT UTCd HIAT
3. To find parallel rays of light/JehTRI &I THIIR [0l YT BT
4. None of these/éﬂﬁﬁaﬂgqﬁ

Correct Answer :-

« To find parallel rays of Iight/H@l&lﬁHleﬂ%WWW



88) If the angle of prism is 60° and angle of minimum deviation is 40°, then

angle of refraction will be:/af¢ T& fUSH ST HIUT 60° TUT gAdH faaer HIvr 40° g1 ot
3T PIOT I

1. 30°

2. 60°

3.100°

4.120°

Correct Answer :-
. 30°

89) If the critical angle is 45° then the refractive index will be:/ﬂﬁm?ﬁw
45° g @Y ugd-i® g

1.1

1
2. V2
3.15

4. 1414

Correct Answer :-
e 1414

90) Image of an object formed on eye’s retina is:/T® %] &1 Ufafaq i@ i
e Wy gt @

1. Real and opposite/ardfd® 3R Jec
2. Real and straight/fﬂﬁm 3R Tier

3. Imaginary and opposite/cblvuﬁdo 3R JeeT

4. Imaginary and straight/®Tedi-d 3% Ter

Correct Answer :-

. Real and opposite/arRdfd® 3R Iee]

91) By increasing the length of microscope, the efficiency of its:/@'{[&ﬂ?ﬁﬁ
P GATS TT5 T R B! &HT:



1. Decreased/‘EI'c'\_rﬂ'cﬁ%
2. Increased/d¢ SIdl §
3. Remain constant/3URafdd Igdl &

4. Increase or decrease depends upon the focal length of Ienses/mmmﬁﬁ
HIHY gidl IR F1R Har g

Correct Answer :-

« Increased/dg SIrdl g

92) The time period of freely suspended magnet does not depends on:/

WAAATId® AP §d gad BT araderd -1+ W R 98 wwar &

1. Length of magnet/ 9% @1 AdTg IR

2. Pole intensity of magnet/ Jad® &1 §d Uaed WX

3. Horizontal component of magnetic field/ W%% afas ged W
4. Length of thread/ﬂﬁaﬁﬁaﬁw

Correct Answer :-

« Length of thread/ﬂﬁaﬁﬁaﬁw

93) The unit of magnetic field is:/AaPd & HT AT &
1. Newton/=gcH

2. Newton-meter/=c- HicX

3. Newton-meter2/7~’3IC\E_rr—1:ﬁET2

4. Newton/Ampere meter/ <-1/URRR Hiex

Correct Answer :-

« Newton/Ampere meter/ gc+/URRR Hiex

94) Which of the following charge is not possible:/%‘-—lﬁ'@ﬁ:{m START AT 51

1. 1.6 x 10719C

2. 4.8 x 10719C
3.8 x 10-19¢C

4.6 x 10-19C



Correct Answer :-

. 6x 1019C

95) If a body is charged by one coulomb negative charge then from normal
condition how many more electrons will present:/df¢ T& &g IR TP Fard
BUMTAR 21 3T W ITHT AT H fraq gaee= ifis 3:

1.6.25 x 10718
2.1.6 x10°19

3.6.25 x 1013
4.6.25 x 1018

Correct Answer :-

. 625x 1018

96) Capacity of a spherical conductor is:/ eI ara® ot fagaa urfear gidt &:

l.C: ":]:‘T[Eﬁ'r

2C= 4‘T[E|}T"2

3C: 4‘1'[5[:.'1‘"3
dme
c= —2
4. T

Correct Answer :-

. C= 4‘T[EDT"

97) we have 3 capacitor of each capacity is 6UF May be find out the
maximum and minimum capacity is:/6 Fﬁﬁﬁaﬂ%%?ﬂ?ﬁm IUds g | Ured &t
ST P arelt gAaw iR Siftrean urfeand &

1. 6uF, 18uF
2. 3uF, 12pF
3, 2uF, 12pF
4, 2uF, 18puF

Correct Answer :-

. 2UF,18pF



9 v v

®) The ratio of 7 of an metal wire is:/@%%?ﬂ'\’%m&m?:
1. Not depend upon temperature/ﬂ'l'qtl?ﬁﬁ-f'{ﬂﬁw%

2. Increased with temperature increase/dId 9¢4 & 1Y 9¢dl §

3. Decreased with temperature increased/ﬂTU&’?ﬁl%ﬂTUﬂE?ﬂ%

4. According to nature of metal decreased or increased with increased temperature/

T B TP & SHTIR 19 96+ & 1Y gedl a1 Sedl §

Correct Answer :-

. Increased with temperature increase/dId §¢- & ITY §&dT §

99) If the length of the wire stretched and make twice in length then its

resistance will be: /3¢ T&h TR &I WaPH? TSB! @dT3 SR HR & AT 3 A BT
AfeRIe 8 S

1. Half/3mem
2. Twice/aN T
3. One fourth/T& AU

4, Four times/dR T[T

Correct Answer :-

« Four times/dR AT

100) 100W-200V bulb is connected to 110V source then power consumed is:/
100W-200V & 9¢d @ 110V I & 1Y FIST S1dT § a1 $of Urar &I Wud ghft:

1.25W
2.50 W
3.100 W

4,200 W

Correct Answer :-

« 25W

Topic:- AG2+3

1)



The only source of animal protein in vegetarian diet is:/ UAHTETING] & HIS-H A
U3 Wi &1 THUTH HTeaH 8

1. Milk/gY
2. Chicken/fI&+
3. Mutton/Iﬁlﬂ

4. Mushroom/ HRR=H

Correct Answer :-

. Milk/g4

2) What is the total Livestock population in India is:/ HRd # $d U IS

T
1. 512 million/512 THfermA

2. 550 million/ 550 fafera
3. 600 million/ 600 fHaferaT
4. 480 million/ 480 fHfera

Correct Answer :-

« 512 million/512 THferaT

3) Per capita availability of milk in India is:/ HRRd ® Ui Safekd gy Suersuan

1. 400g/400 TTH
2. 322g/ 322 IH
3.220g/220 TH

4.281g/ 281 TH

Correct Answer :-

o 322g/ 322 UMH

4) Which is the heaviest breed of cow is:/ T I UK A ______ &
1. Kankrej/ ool

2. Gir/ iR

3. Sahiwal/ gifgard

4. Gangatiri/ TTTGRT



Correct Answer :-

« Kankrej/ ool

5) Which is the highest milk fat producer buffalo breed is:/ T SgTeT T
SATEP U BT T DI Y 3:

1. Nili Ravi/=Teit rdt
2. Bhadawari/ HaTa_l
3. Murrah/ H’Q‘f

4. Surti/ Q!

Correct Answer :-

« Bhadawari/ HGIa<t

6) Which breed of buffalo is famous by name ‘Panchkalyani’ is:/ g $I fra
A DI U’ & ATH A ST 1] 8:

1. Murrah/W

2. Niliravi/ffeRrd

3. Bhadawari/Harasl

4. Amritmahal/3fHd Hgd

Correct Answer :-

« Niliravi/fFferrdi

7) The life span of goat is: / B3} HT Sad H1dl fHa-T gidT 8:
1. 10 years/10 9T

2.12 years/12 HId

3. 15 years/15 HId

4, 18 years/ 18 9Id

Correct Answer :-
e 12 years/12 91d
8) The buck is best for stud purpose at:/ U= & o€ g F YaivH 3 gidT 8:

1. 1.5 years/ 1.5 9Td



2. 2 years/2 Hid
3. 2.5 years/ 2.5 9Id

4. 3years/ 3 HId

Correct Answer :-

« 2.5years/ 2.5 91

9) In goats, time of matting or insemination after onset of heat is:/ Wﬁ'!ﬁﬁ,

T & e & a1e uPpfad a1 W TUieE T EUT §:
1.6-8 hrs/6-8 ©¢

2.10-12 hrs/10-12 °¢

3.14-16 hrs/14-16 °¢

4.18-20 hrs/ 18-20 ©¢

Correct Answer :-

« 10-12 hrs/10-12 ©¢

10) Sheep breed reared only for meat production is:/ $ad@ AIY IdTGH & foE ureit
W1+ arelt 4S $t = &:

1. Marwari/ ARATS!
2. NeIIore/ei('_vﬁT

3. Bikaneri/ BT
4. Nali/ =Tefl

Correct Answer :-

. NeIIore/elc_vﬁT

11) The Pashmina is obtained from:/ afA=TT f&at fireran e
1. Chegu/ﬁ'{[@f

2. Angora/&'ﬂﬂ?T@[

3. Sirohi/RRIEH A

4. Barbari/SReR1 9

Correct Answer :-

. Chegu/ﬁ'{[@f



12) Naked neck is:/ %S AH AT §:
1. American breed/ 3IMANBHT T

2. English breed/ 3= I

3. Hindustani/ fg=g&t =%

4. Mediterranean/ YA IR 95

Correct Answer :-

o Hindustani/ %Eﬁﬂl:ilw

13) Which breed is for game purpose:/ @a@w%ﬁqaﬁ-—rm T 8
1. R.I.R/ 3R.3M18. 3R

2. Cornish/ PI=

3. Aseel/ 3Rfd

4. Minorca/ o R®T

Correct Answer :-

. Aseel/ 3@

14) What is the body temperature of hen:/ Tff & TR &1 a1y fovan giar &:
1.107 OF

2.101 OF

3.98.6 OF

4.100 OF

Correct Answer :-

. 107 OF

15) Calving interval in cows should not be more than:/ 3id 3id3Td Al # J

el g1 i1 A13e:
1. 10-11 months/10-11 HIg
2.12-13 months/ 12-13 HIg

3. 14-15 months/ 14-15 HIg



4. 16-17 months/16-17 HIg

Correct Answer :-

e« 14-15 months/ 14-15 HIg

16) Inbreeding or line breeding decreases:/ 3{=: Uo4+ I 'EIE'IT-IT%:

1. Heredity/ 3{difRiddl

2. Variation/ faf¥r=ar

3. Embryo mortality/ YUl &R
4. Prepotancy of bull/ I8 &1 &Wdl

Correct Answer :-

« Variation/ ICIRERI

17) Crossbreeding increases:/ &I AT gerdrg:
1. Production/ 3dTc

2. Hybrid vigour/ ¥&R 3{isf

3. Body weight/ IRR 4R

4. All of the above/ SWRIdd g+t

Correct Answer :-

« All of the above/ IWRIad Tt

18) Mating among unrelated pure breed animals within the breed is called:/

TH g1 T & A= g URISH & o= DI 7T HEd 3
1. Crossbreeding/ HbUl

2. Line breeding/ 3~dRART Yo

3. Out crossing/ CHACEER]

4. Hybridization / g0l

Correct Answer :-

o Out crossing/ ol U

19) In order to keep female calves growing properly we must separate bull

calves at:/ HTel UX[3{i @t 34 3fg & g R 7= &1 fova= e et &= =nfee:



1. 3 months age/3 II'I'6’$°[B'E[ER
2. 6 months age/6 HIE &1 39 WX
3. 9 months age/9 e Bl SH R

4. 12 months age/12 HIg &1 39 X

Correct Answer :-

« 6 months age/6 HAIE BT S W

20) Which medicine is used for naval treatment:/ Y SUAR & fo1T sTAATA B
ST arelt gar 3:

1. Chlorine/ FARM
2. Tincture Iodine/ f&=R 3RS
3. Boric Powder/ IND TSR

4. Bleaching powder/ sIfeiT Ur3eR

Correct Answer :-

« Tincture Iodine/ f¢R 3ATSH

21) In which direction cattle shed should be:/ T=Tar & A&} fa=m war g1 @fgu:
1. East to west/ X9 ¥ Uf3H

2. North to South/ 3R I G&ur

3. East to South/ W‘@TEF&I'UT

4. Any direction/ HI3 ot fa=m

Correct Answer :-

- North to South/ IR ¥ Glarum

22) Calf starter must contain:/ WE‘I‘&%WﬁWEﬁWW:

1. 6-9 % DCP and 50-60% TDN/ 6-9% UTH® %8 UI¢IH Tl 50-60% $d UNId ad
2.16-19 % DCP and 80-90% TDN/16-19% U & WIcH T 80-90% Hd UTdd a@
3.12-15% DCP and 60-70% TDN/12-15% W%Eﬁ?ﬁ:{ﬂ?ﬂ 60-70% P ol UTlddh dd

4, 20-23% DCP and 70-75% % TDN/ 20-23% W%Eﬁ’cﬁ?ﬁ%ﬂ 70-75% Pl Ul dd

Correct Answer :-

« 20-23% DCP and 70-75% % TDN/ 20-23% W%Eﬁ’cﬁ?ﬁ?ﬂ 70-75% Pl Uldd dd



23) In young bull, deficiency of Vitamin-A may lead to: /99%® dis! § faerfiq -w
o Fft I FT B HaT B:

1. Poor quality semen production/ g forw &1 R S
2. Poor health of the bull/ FHGR WY gigl BT

3. Susceptibility to diseases/ fomTiat o gfa ara

4. Night blindness/ Taidt

Correct Answer :-

« Night blindness/ Taidt

24) pH of excellent Silage is:/ 3ifd IFHT TS & pH BT 3:
1.3.5t0 4.2/3.59 4.2

2.2t04/29 4

3.4.5t0 5.5/ 4.59 5.5

4.2.5t03/ 2593

Correct Answer :-

« 3.5t04.2/3.5T 4.2

25) What percent of dry matter present in wheat bhusa is:/ g & &1 # [&H
verd fara=n ufersra gtar 3

1. 50 to 60% / 50 ¥ 60%
2. 70 to 80%/ 70 ¥ 80%
3.90%

4. 100%

Correct Answer :-

. 90%

26) In cows first ring on horn appears at the age of:/TTdl & W # YYH ST $9
CEGIES

1. 5 years/5 qra |
2.1 year/1 9@ H

3.3 years/ 3 qraH



4.4 years/4 qrd |

Correct Answer :-

« 3years/ 3 g A

27) Best method of age determination in Cattle is:/ Wﬁwmmﬁaﬁ
Taraw fafr «ar 8:

1. By horn/ I GEHR
2. By hoof/ ¥R @HI
3. Dental formula/ <afafdr

4. General appearance/ 9= fafg

Correct Answer :-

. Dental formula/ carar

28) By Score card method maximum number is given on: /R TS fafy & gaa
wTeT 3w ford fau oird 8:

1. Hind quarter/ IRR &1 TUSAT AT R
2. Fore quarter/ YRR BT SATAT T T
3. Udder development/ 394 fa®bTg IR

4. General appearance / IMHN XM WR

Correct Answer :-

« Udder development/ 3 f[apg W

29) Maximum egg producing breed of poultry is:/ I 3P ST IUTGH B
arelt ff 1 T B 3

1. Whit leghorn/ ®T3¢ TTgH
2. Aseel/ 3r&d
3. Kadaknath/ ®Sh-IY

4. RIR/ 3R 3MTS 3R

Correct Answer :-

« Whit leghorn/ &gT1gc allaﬁ



Egg producing bird is called as:/3{ST 3dTeH 3 arelt il = Hgard! &:
1. Broiler/ dlld¢R
2. Layer/ TR

3. Pullets/ J&ic
4. Capon/ &UH

Correct Answer :-

. Layer/ @R

31) How much space is required for egg poultry is:/ 3T ¢ areit ﬂ‘ﬁ%ﬁﬂ!ﬁo—d:ﬁ
g B SATaRIDHT USd! &

1.1 sq.ft/1 T He
2.2 sq.ft/2 T Ge
3.3 sq.ft/3T Pe
4.1 sg. meter/1 i Hiex

Correct Answer :-

. 35sq.ft/3THe

32) Starter feed contains maximum of:/ URTH® AER A TaQ 3fiUew AT grdT SATdT

e
1. Carbohydrates/ $I§i|6 3%3\9

2. Fat/ 941
3. Protein/ Ui
4. Vitamins/ foefig

Correct Answer :-

« Protein/ WA

33) Most dangerous disease of chicken is:/ﬂﬁfﬂ’fﬁqﬁfﬁ'ﬁmﬁmw
EﬂTIT\Pr%:

1. Chicken pox/ IECRRIES]

2. Ranikhet/ NEIECH]

3. Merk’s disease/Hd SIHRI
4. White diarrhoea/ Ihg g



Correct Answer :-

« Ranikhet/ JHI&d

34) Which disease spread through virus in cattle is:/ a0 # fquTo ¥ B areit
T P

1. Foot and Mouth disease/ IR U1 Hg Ul
2. Bloat/ BRI

3. Milk fever/g &R

4. Anthrex/ T&

Correct Answer :-

« Foot and Mouth disease/ IR Ul Hg Ul

35) Anthrax is caused by:/ @Tﬂm Eﬁ?ﬁ%

1. Virus/ ﬁﬂ]ﬂl@f
2. Protozoa/tﬁa@f\%ﬂ@r

3. Bacteria/ SiaTo] &
4. Fungi/ 9 ¥

Correct Answer :-

. Bacteria/ Siiaro] &

36) Severe bloat is removed by tools:/ g g ¥ w1 A Ay fAPprar ST 2:
1. Trocar-cannula/ RBR- %FIT J

2. Bull stuff/gd €% 9

3. Bamboo drencher/ ¥ &9 el ¥

4. None of these/ s——n?r @raﬁs‘qﬁ

Correct Answer :-

e Trocar-cannula/ RPR- W@f

37) Which is the best method of milking:/ mmﬂﬁﬁfﬁﬁqﬁ %:
1. Full hand method,/ guf g% fafd
2. Knuckling/ 3[aT fafd



3. Stripping/ ﬂ?ﬂﬁﬁﬁr
4. None of these/ 379 § I3 gl

Correct Answer :-

« Full hand method/ ol g% fafd

38) What is the boiling point of milk (in Celsius) is:/ mmr—rmrg%rm%

QAfRTas #):
1. <100
2.>100
3.100

4. At any temperature/ food! 4t aroAA R

Correct Answer :-

« >100

39) Which factors affects the composition of milk is:/ ﬁgﬁﬁﬁqg&rﬁmaﬁ
YHTIId PR a1d PRSP 8-

1. Species/ Sifd

2. Breeds/ X

3. Feeds/ Y=g gard

4. All ofthese/maﬁ Tt

Correct Answer :-

o All of these/m Tt

40) Which harmon helps in let down of milk:/ g¥ 3d== | ®I AT gHHIH Hgg Hedl

ot
1. Estrogen/ TS
2. Pregestron/ JToieR

3. Adrenal/ QS‘AIHG
4. Oxytocin/ fiGETCIRA

Correct Answer :-

« Oxytocin/ GG



41) Milk sugar is also known by the name of:/ g XI&RT $I fha A7 A ST STl

G

1. Fructose/ﬁv_d@\_rr

2. Lactose/ daerdl

3. Galactose/ TdTacIol

4. None of these/ T8 ¥ ®Is -Tg!

Correct Answer :-

« Lactose/ NIEES]

42) What is the percentage of water in buffalo milk is:/ W & g d ®1 Ulaza
A= fpast gidl 8:

1.83
2. 85
3. 87
4.93

Correct Answer :-

43) What percent of total solids present in cow milk:/ T & ¥ ¥ ¢ied HIfds 3t
fora=it ufer=ra v urs wTel 3:

1. 15
2. 14
3.13

4. 12

Correct Answer :-

44) Specific gravity of milk is measured by:/ gerﬁ wWiafre A fora | A1ud &:

1. Butyrometer/ E];éilﬂlai
2. Lactometer/ drael Hiex

3. Gerber method, TTeR fafy
4. None of these/ Eﬂ'ﬁf@f?ﬁéﬂﬁ



Correct Answer :-

« Lactometer/ rael Hiex

45) What is the maximum fat percent in ghee is:/ o # Srftreraw 99T (%) fa=m uran
ST 3:

1. 80
2.90
3.95

4. 99

Correct Answer :-

46) SNF % in full cream milk is:/ B@ P10 gU ¥ TH.TA.TE (%) BT g <Irat &
1.8.5

2.8

3.8.7

4.9

Correct Answer :-

47) Milk is converted into dahi due to:/ §uaﬁﬁmwﬁmﬁaamé:
1. Streptococcus/@@ﬁw
2. Lactobaccilus/daciaraey

3. Stephilococcus/XWHIHH
4. None of these/39H ®13 gl

Correct Answer :-

« Lactobaccilus/daeaRIayg

48) Churning is done for:/ ﬁﬂmmmmwﬁ
1. Ghee making/ 0§ H

2. Dahi making/ &gl - H



3. Cream making/ ®1H &4 §
4. Rabri making/ Ya3 94 H

Correct Answer :-

« Cream making/ ®H & &

49) Temperature of UHT is:/ I &9 & &1 aT9aT fHa-n gat 8 :
1.1000C

2. 1100C

3.1350C

4.730C

Correct Answer :-

. 1350C

50) Maximum milk producing state in India is:/ WRWWWHWWW
CaCk:|| %:

1. Gujrat/ TSRRId
2. Madhya Pradesh/ %0 el
3. Uttar Pradesh/ JTR Ul

4. Punjab/ USTTd

Correct Answer :-

« Uttar Pradesh/ IR U

51) The term agriculture is derived from:/ ¥ sz foFa® Icaw gomm 8:
1. Latin word/ =fes ere3

2. Greek word/ 1= e

3. English word/ s3stt 9ts2

4. German word/ STUT 9TeF

Correct Answer :-

« Latin word/ fed 9rs2

52) The term Agronomy is derived from:/ SRR (TIATHT) ez forad 3T+ g0 7



1. Latin word/ =fes ete

2. English word/ 33sft ersx

3. Greek word/ i e58

4. None of the above/ 390k § & &1 T 751

Correct Answer :-

« Greek word/ = 9re=

53) Which one of the following crops is a Kharif season crop of north India:/
TTH § I €T B ITL TG 0l @OF ST il 7O 5

1. Wheat/ 7§

2. Oats/ srex
3. Bajra/ arsi1

4. Berseem/ IHiH

Correct Answer :-

« Bajra/ arsraT

54) Roselle and Mesta are examples of:/ T T AT 3/ & fheeh I &:
1. Cereals/ s\t

2. Pulses/ =Tt

3. Oilseeds/ == (AT =)
4. Fiber crops/ ®Tza¥ w8
Correct Answer :-

« Fiber crops/ ®Tza< e
55) CANCELLED

Nipping is recommended in which type of chickpea:/ & < & 99 & g9+ #1
qATg & TS 8

1. Desi chickpea/ =®T =T

2. Kabuli chickpea/ FTeet =41

3. Both of the above/ I92I<h a1

4. None of the above/ IU0<F § & #r< T 751

Correct Answer :-



« Desi chickpea/ =#t =41

56) Which one of the following plant spacing is recommended for higher yield
of onion bulbs:/ =Tt $ 37 SUw & forw A & F fore worie i@ (dten v = %1 siaw) fi
qATE &I TS &

1. 30 x 45 cm/30 x 45 FdHiex
2.30 x 7.5 cm/30 x 7.5 #§dHieT
3.15 x 7.5 cm/15 x 7.5 §&#iex

4. None of these/ = & FTs 481
Correct Answer :-

e 15x 7.5cm/15 x 7.5 &ffiex

57) For table purpose raddish and carrot producting, the recommended

spacing is:/ 99 3297 % forw Y 37 Teie Seates, F forg SR 6 aarg §:
1. 45 x 30 cm/45 x 30 #&rHfiex

2.30 x 15 cm/30 x 15 #5&fizT

3.45 x 7.5 cm/45 x 7.5 §dHieT

4. None of the above/ 39Tk # & &I AT 751

Correct Answer :-

« 45 x 7.5 cm/45 x 7.5 &ERfiex

58) Which one of the following types of vegetable gardening is followed in
Dal Lake of Kashmir valley:/ F¢Hi< a7t it o sfter & Aot & @ e woe i asfieas
T (Ffsstat it amraTT) FT 919 T SITaT &

1. Floating garden/ WATTesT ITEq
2. Hydroponics/ gregart+eg

3. Kitchen garden/ f&== e+
4. None of these/ za# & FIs gl

Correct Answer :-

« Floating garden/ wTfeT e

59) Vegetables are packed in cans and processed in heat in:/ =« ® o= qfesat

e off # iR S



1. Retort/ R=ie o
2. Water bath/ S/ &9 &

3.Sun/ g3 &
4. By other means/ 3= =i &

Correct Answer :-

« Retort/ fR=ie

60) Which of the following is used to check the sprouting of onions during
storage:/ ST & I TATH % FFH Hl <@ & T F & F FlT qT TR 63T 74T 2!

1. N.AA./ TA.T.T,

2. M.H./ Tq. U=,
3. G.A./ Sft.T.
4. P.C.P.A./ &t dr.0.

Correct Answer :-

61) Which of the following is an early variety of cabbage:/ 37 & %I7 s&HT #iT
T TR faferear s

1. Pride of India/ wT== &% =47
2. Early drum head/ 3Rt 39 g2
3. Chieftain/ i

4. None of these/ 7% & s g1

Correct Answer :-

« Pride of India/ wrge i+ =T

62) Potato tuber production stops totally at a temperature of: / fvas amaaT™ WX
M HE FT IcUTeA, X T8 | 9% g1 (14T &2

1. 25°C/250 afeeTe

2. 30°C/300 e
3. 35°C/350 e
4. None of these/ 7 & #I< T8}

Correct Answer :-



. 30°C/30° afeaw

63) Tomato fruits crack due to:/ THTET & | TLL A FT FILW &:
1. Restricted watering/ wfasfara ar=t

2. A period of drought, followed by heavy watering/ stsTer T rafar = aTg 9T ATAT § 9147
AT

3. Over watering/ 31t aT=T STAT
4. Insufficient watering/ sraai ar=T
Correct Answer :-

« A period of drought, followed by heavy watering/ 3rTer it stafer & ara 9T 9= § 91T

64) The best sowing time of tropical carrot in the plains is:/ = saThi &
ISURTET T TS S HT T =31 99 7

1. Mid August to beginning of September/ @& sTed & Hdav T &ed a®
2. November-December/ Taav-fega<

3. July-August/ TS -3RTET

4. None of the above/ 390k § & &1 T 751

Correct Answer :-

« Mid August to beginning of September/ @& sTed | foda T g&ed a®
65) Potato is a native of: /3 T 4 &1 &:

1. Europe/ T@@

2. South America/ aferoT sTaTT

3. Africa/ sshiaT

4. None of these/ 7% & #FIs g1

Correct Answer :-

« South America/ =farr srafeT

66) Whiptail in cauliflower is caused by:/ GRSt § fawes FT H10r AT 8:
1. Excess of boron/ @ Y stferar

2. Deficiency of boron/ < #it FHfY



3. Excess of molybdenum/ wTfersg=r T srfersrar
4. Deficiency of molybdenum/ #rfersee it Fft

Correct Answer :-

« Deficiency of molybdenum/ rferse«w it FHT

67) CANCELLED

Pollination of radish is done by:/ Tt &1 wxrrer favas g fFam sTar 8:
1. Bees/ wyHAa=l

2. Honey bees/ 912z #T wadt

3. Wind/ gat1

4. Water/ 91

Correct Answer :-

« Honey bees/ «rgz #T At

68) Who among the following studied heterosis in brinjal:/ Fwforfa & @ fraw
AT F FeLTOT T Feqq= 7T B

1. B.S. Tomar/ st.uq. 9H<

2. H. Singh & T.S. Kaidar/ t=. f&g 3T &.19. F=T

3. N. Basuvaraja/ uq. sqa<sIT

4. All of the above/ 3uZi<h T+t

Correct Answer :-

« All of the above/ 3u<i<h T+t

69) CANCELLED

Potato geening results in:/ e ST & RO &:
1. Increase in nutritional quality/ 9T T TUrET § gE
2. Decrease in nutritional quality/ T & IporaT & FHHT
3. Increase in disease resistance/ TrT Yoy # Fix

4, Decrease in disease resistance/ T3 Iia<rer § FHT

Correct Answer :-

. Decrease in nutritional quality/ TroeT T IoreaT § FHT



70) The most common stem support mechanism used by florists in fresh cut
flower arrangement is:/ TT9T ¢ T SFGEAT § FAATAT G START 6T AT ATAT T S
TEH TITE ThIATH §:

1. Chicken wire/ === ar=¥
2. Floral foam/ %17 ®IF

3. Dry foam/ ST &

4. Needle point holder/ 1= @=Tze gleex

Correct Answer :-

« Floral foam/ ¥t w19

71) In sterilizing plant growing medium, which of the following method is not
used:/ Tt F T4 # fAower v F wrew ®, FMwfetag § @ G fBfe w1 s 738 frar smar g

1. Steaming/ fET

2. Bakings/ afsr

3. Using chemical fumigant/ TrETa = & T ITANT FIAT

4. Keeping the growing medium moist for 6 -7 days/6-7 &t & forw st weaw 7wy 1 @
Correct Answer :-

« Keeping the growing medium moist for 6 -7 days/6-7 &t & forw szt weaw 7wy #r &=
72) The primary colours are:/ YT H® T &:

1. White, orange and blue/ @%g, AT 3T =T

2. White, red and blue/ ftr, STt 3 e

3. Yellow, black and blue/ 9=, et 3T fi=r
4. Yellow, red and blue/ di=r, @rer 3T Hi=r

Correct Answer :-

+ Yellow, red and blue/ 9=, et 3 =t

73) Popular colours used in floral design during the spring and easter season
include:/ T&rT X S €19 & I TR RT3 § STANT 6T ST a1t AT T+ qOriaer
&

1. Red, black and white/ =TT, FTT 3T T

2. White, yellow and bronze/ @z, fi=T 3T Fieg (1W)



3. Yellow, red and pink/ 9T, & 3 TATST
4. Pink, yellow and white/ T@T&T, aT ol %

Correct Answer :-

« Pink, yellow and white/ I@Tet, T 3T T

74) In landscape design properly located plants and structures:/ sisehy Rere
# 3y ¥ w1 fhU T uter s S=ATu:

1. Can reduce heat intensity/ T &t SradT 1 7 FT Tl &
2. Need to be constantly pruned and maintained/ sRTTaT E2wT 3f¥ a¥TT & SITHT ATRT
3. Block the view of the front door/ ST & I¥ATSI & 9T &l UHAT 5

4. Are not essential for a good landscape design/ T 3= deehq BT & o0 straea+ wgi
g

Correct Answer :-

« Can reduce heat intensity/ T &t Sr=dT 7 F7 FT Tl &

75) For optimum vase life, most of the cut flowers should be stored at a
temperature close to:/ $A3E ¥ T¥AH Sa" & 1T, SATITAT Fe FAT FT 60 TFH TTIATET T
UG FohaT ST AT

1. 40° F/400 ¥zree
2. 45° F/450 Temeree
3.30° F/300 ¥eeree
4. 50° F/500 ¥emerze

Correct Answer :-

. 40° F/400 ¥mgrse

76) A type of propagation in which the propagule remains attached to the
parent plant is termed as:/ TF T &7 G907 {SEH TGS (I8 FT TH WRT) ATQT-978 &

=T Tear ¢ o wed &

1. Layering/ 3T

2. Stem cutting/ ¥ew ®fdT
3. Root cutting/ e =faT

4. Division/ fefis=

Correct Answer :-



« Layering/ =T

77) The term that refers to all the petals of a flower collectively is:/ 25g 5T T%
F & T TGIAT FT A fa® €7 & AT HLAT 7

1. Sepals/ e

2. Stamens/ w4
3. Styles/ ®&1=q
4. Corolla/ &<t

Correct Answer :-

« Corolla/ &«

78) A ten-week group variety of chrysanthemum means:/ t&3%® i t% 9-9918
Tz fafarear w1 o 8

1. They should be ten weeks old when potted/ TR 9 a8 30 918 T &I+ ATRT

2. They will bloom ten weeks after sticking the cuttings/ ag Fo@g! &I 1T ST % a9
THTE 978 feret T

3. They will bloom ten weeks after the start of short days/ =1 &1 i &d % 9 gF
7% ag ferer

4. Cutting of this variety being planted should root in ten weeks/ =& feq T %1 #1 10
TqHTE § ST A0

Correct Answer :-

« They will bloom ten weeks after the start of short days/ &re &t &t gr&aa * T FHRT
7= 78 e

79) Cuttings of potted chrysanthemum are planted at an angle to

encourage:/ W gU AT &t FeTs Hl Tearigd HLT & (o1 Tah HI0 9 AT SATAT 3:
1. Increased branching/ em@Tat FT TETHT

2. Larger blooms/ =rfars a2 e

3. A more rounded plant/ stfers e greT

4. Earlier flowering/ 98« & 3T

Correct Answer :-

+ Increased branching/ emaTsi T a@T=T

80)



Zero tillage system was first used successfully in 1950 in pasture renovation
in:/ S AT TOITAT T THAATLAR TEAT TANT 1950 F qTEAT THATAUT | Fgh (b1 IAT AT:

1. Germany/ ST+t

2. Japan/ ST+
3. United Kingdom/ ZAT=<E fERrew
4. USA/ quaT

Correct Answer :-

. USA/ TmHT

81) According to the modern concepts of tillage, the major function of inter-

row tillage is:/ SATs &t EgAF ATTIUTSN F ATATL, AALA qT<h it QAT FT TG 19 g
1. Moisture conservation through soil mulching/ gt & gemefierar & ATeaw & THT HeqT
2. Improved soil aeration/ sga¥ a1 a1aq

3. Improved soil granulation/ sga< gt #7 I@ER AT

4. Moisture conservation through weed destruction/ s¥& = faaTer & THY "weqor

Correct Answer :-
« Moisture conservation through soil mulching/ Tzt # FaATeiear & ATed® & THT G0

82) Though tilth is dynamic in nature, it can be measured by:/ it oo i
# wivefier &, =8 g & 717 57 9T 8

1. Aggregate analysis/ ¥ fagwor

2. Chemical analysis/ Tram=fa= fagoor
3. Biological analysis/ Stfa= fargoor

4. None of these/ 7% & #Is 98!

Correct Answer :-

« Aggregate analysis/ @& fagmor

83) Which of the following is not a primary tillage practice:/ 7% ¥ ®i9 4T
T @A &1 AATH Tl &

1. Ploughing/ wrsr
2. Planking/ =ifaT

3. Harrowing/ garasT
4. Weeding/ #ifew



Correct Answer :-

« Weeding/ #ifsw

84) Sub-soiling is:/ ga-Ai5fT &

1. Breaking the hard part/ &> 2= &t argse
2. No inversion of soil/ gt FT #IE TaeTa Tl
3. Both of the above/ 3ur<h T+t

4. Invert the soil/ TEr &1 3T

Correct Answer :-

« Both of the above/ 3=k a1

85) Rice is originated from:/ J1a« I g0 &:

1. South west Asia/ =feror gfsrg uforar

2. Europe/ 09
3. South America/ =ferr srafarT

4. India and Burma/ T3 T 97

Correct Answer :-

« India and Burma/ 9T3d ¥ 97

86) The rice varieties grown in India belongs to:/ sT<a & 3T U 9719« 6T fohed ey

q T 5

1. Indica/ ==t

2. Japonica/ Srarfa=t
3. Javanica/ STari=ehT
4. Asiatica/ Tfeqrtest

Correct Answer :-

« Indica/ ===

87) Which gas is released from paddy fields:/ 9 @ 79 &= & @qi & Awad? g

1. CHy4

2. st



3.CO,

4. NH

Correct Answer :-

i CH4

88) The dent corn is also known as:/ T &1 3 919 ¥ oY ST 9747 3
1. Zea mays indentata/ f& o5t g22rar

2. Zea mays indurate/ & o9 F=ie

3. Zea mays tunicate/ for a1 =1ffee

4. Zea mays everta/ 57 a9 u=et

Correct Answer :-

« Zea mays indentata/ {57 o9 g22meT

89) Test weight of sorghum is:/ SaT< FT ¢& a9 &
1.20 - 25 g/20 - 2577

2.25-30g/25 - 309™

3.30-35g/30 - 353m™

4,70 -72g/70 - 72 9™

Correct Answer :-
« 25-309g/25-309™

90) In sorghum plants, dhurrin is synthesized from:/ sax ¥ utei &, ¢ &1 s
gy e fraT smar &:

1. Leaf/ 7=t

2. Roots/ =t

3. Stem/ =¥

4. None of these/ % & #IE T
Correct Answer :-

« Roots/ SEf

91) UPAS 120 is a variety of:/ Tfitua 120 frasht T+ fFew g



1. Wheat/ 7§
2. Pigeonpea/ TOsIEHT (T T¥g T #eX)
3. Barley/ it

4. Urd/ 3g<

Correct Answer :-

« Pigeonpea/ fasHdT (T qg FT #eX)

92) Soybean seeds contain:/ TATEH & 5 F oA B
1. 20% oil and 20% protein/20% T« 3T 20% e

2. 40% oil and 40% protein/40% T 3T 40% TIE+

3. 40% oil and 20% protein/40% T 3T 20% TIE+

4. 20% oil and 40% protein/20% o< 3T 40% &+

Correct Answer :-

« 20% oil and 40% protein/20% < ¥ 40% T

93) Blackgram is originated in:/ &TaT 99T 3T goll &+
1. India/ \wmxa

2. Tropical America/ Sorsfeaeiar srafesT

3. China/ ==

4. Indonesia/ Z==ta=T

Correct Answer :-
e India/ w1&a

94) Soybean is introduced in India from USA in:/ ST &1 €3 TS STHHT 7
AT # weqa Foham:

1. 1901
2.1947
3. 1960

4. 1969

Correct Answer :-

« 1960



95) Green seeded black gram variety is:/ X i I Fret 97 KT fFew &
1. T-9/ -9

2. T-77/ &-77

3. T-27/ &-27

4.T-10/ &1-10

Correct Answer :-

. T-77/ &-77

96) Origin of groundnut is:/ FIwAT T ST g=:
1. Africa/ sTshtsht

2. India/ w2

3. China/ =19

4. Brazil/ srstter

Correct Answer :-

« Brazil/ asfier

97) Groundnut pegs developed in the soil from:/ g & Farwedt 7 G #1 FFaa
e fopaT smaT &

1. Roots/ =
2. Fruits/ ®=1
3. Stem/ =H
4. None of these/ =# & &< g1

Correct Answer :-

e Fruits/ &<

98) The seed rate (kg per ha) for sarson main crop is about:/ & F &7 wa
& forw <fier 2w (wfr g fone) &

1.4-6
2.2-3
3.10-12

4,12-15



Correct Answer :-
e 4-6

99) The seed rate for pure crop of mustard and rapeseed is:/ I3HT 3 W< Fit
& FEAT o T fiwr T 8

1. 6-6.5 kg/ha/6-6.5 fremuma/geaT
2. 6-7.5 kg/ha/6-7.5 fFamuma/g#eax
3. 6.5-7 kg/ha/6.5-7 freuma/gaeas
4.7.5-8 kg/ha/7.5-8 freiuma/gaeas

Correct Answer :-

« 6-7.5 kg/ha/6-7.5 HeRITH/E#Fa<

100) American cotton should be planted at a distance of:/ st Fama frat T
I FTE AT AR

1. 45 cm x 30 cm/45 H&HTex x 30 e
2.60 cm x 30 cm/60 &H&HTeT x 30 HErfier
3.60 cm x 45 cm/60 T x 45 FHErfier
4.90 cm x 45 cm/90 e x 45 FErfiex

Correct Answer :-

« 60 cm x 45 cm/60 FEH T x 45 §hHeET



